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Zg-z-g-3 Ofl ko4 JIEH Hns
=S Al 1,440,546 1,056,546 384,000
200 Mlel==¢ 1,196,400 812,400 384,000
220 SAIE AL+ 1,058,400 674,400 384,000
221 MHAto2b==2 1,044,000 660,000 384,000
221-03 SRz 1,044,000 660,000 384,000
< ZHOoIHX 2 > 1,044,000 660,000 384,000
OsZHI 2243 Z & 1,044,000,000& * 14! 1,044,000 660,000 384,000
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H#: S2OX E8 Y 2Y
S SZOXNES U SNV (SBUNTLALSHEN) EERED
SA -3 HAGA) - HEAY - BES Ol &4 JNEA Hw&s2
211 Ofl LA X 2t 1,440,546 1,056,546 384,000
S2OX E4 Y 2Y 1,440,546 1,056,546 384,000
STENES L SYNV (STLNESAMLSES|H) 1,440,546 1,086,546 384,000
ST HESLHRIAL A2y 870,264 786,264 84,000
307 212401 & 702,264 618,264 84,000
05 B2t 702,264 618,264 84,000
OZFSTHX IBHLH2UAL FAS2Y
AT 58,502,0002 122 702,264 618,264 84,000
DTHAMIAIL SEAAZAMH | 7L 300,000 0 300,000
401 Al &8I L 2 THH| 300,000 0 300,000
01 Al&ttl 300,000 0 300,000
OZZHAHMEIAIL 2BAAZAMH ZH 3
g 300,000, 00021 * 14! 300,000 0 300,000
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